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SINGAPORE  PRIMARY MATHEMATICS 

PLACEMENT TEST 6A

Name: _____________________



Marks: ______/ 100

Date  : _______________

	Section A ( 30 Marks )

Questions 1 to 15 carry 2 marks each. For each question, choose the correct answer and write its number in the bracket (  ) provided.



	1.
	Express 25 out of 625 as a percentage

(1) 14%

(2)  4%
(3)  24%

(4) 15%
	(        )



	2.
	The amount of Brett’s pocket money is  2
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  times that of Derrick’s.. Find the ratio of Brett’s to Derrick money
(1) 4 : 5
(2) 7 : 5
(3) 11 : 5
(4) 5 : 11
	(         )

	3.
	The usual price of a shirt is $70. Kim bought it at a discount of 20%.  How much did she pay for it?

(1) $8.00
(2) $20.00

(3) $35.00
(4) $56.00
	(          )

	4.


	Mary left school at 3:15 pm and walked to the library at 5 km/h.  The library was 2 km away.  What time did he arrive at the library?

(1) 3:51 pm
(2) 4:03pm
(3) 4:30pm
(4) 3:39 pm

	(          )

	5.
	Find the perimeter of a semi-circle of diameter 24 cm in terms of (.

(1) 24 ( cm

(2) 30 ( cm

(3) (12 ( + 24) cm

(4) (24 ( + 14) cm
	(           )


	6.
	Find the perimeter of this figure which is made up of a semicircle (diameter 28 cm) and two identical squares. (Take ( = 
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)


(1) 100
(2) 98
(3) 72

(4) 150
	(           )

	7.
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of John’s monthly salary is twice as much as Steve’s.  How much does Steve have if John has $300 more than he?
(1) $60
(2) $50
(3) $70
(4) $35

	(           )

	8.
	Michel has 3x crayons.  Glenn has 6 times as many crayons as Alan.  Harry has 16 crayons.  How many crayons do the 3 boys have in all?

(1) 3x + 16
(2) 8x + 16

(3) 5x + 12

(4) 21x + 16


	(           )

	9.
	Three ropes were given to Carl, Pete and Andre,.
Carl got 3
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 m of rope, Pete got 4
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m and Andre got 5 m.  What is the ratio of the length of Carl’s rope to Pete’s to Andre’s?

(1) 2 : 1 : 3

(2) 7 : 9 : 10
(3) 12 : 9 : 14
(4) 10 : 9 : 7

	(           )

	10.


	Lamb has $35. Bill has 
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 as much as Lamb. What is the average amount of money they have?

(1) $9.00

(2) $26.75

(3) $25.50

(4) $26.25

	(           )


	11.
	The pie chart shows the favorite leisure activities of a class of students. O is the center of the pie chart. AOB and COD are straight lines. Use the pie chart below to answer the question.

What percentage of the students enjoys watching TV?


    A


      C


     D
                      O







                                  B

(1) 37.5%

(2) 40%

(3) 45%

(4) 50%

	(           )

	12.
	Tom bought 8 fifty-cent stamps and some twenty-five cent stamps. He paid $10.00 for the stamps altogether. How many twenty-five cent stamps did he buy?

(1) 35

(2) 24
(3) 17

(4) 13

	(           )

	13.
	0ne dozen pen cost m cents. What is the cost of 36 such pens cost?

(1) m/36 cents

(2) m/12  cents

(3) 6m cents

(4) 3m cents
	(           )


	14.
	 Simplify 12x+ 6 –  7x – 8
(1) 5x - 2
(2) 5x +2
(3) 3x + 4

(4) 19x – 2

	(           )

	15.


	A car took 30 min to travel from City A to City B at an average speed of 80 km/h.  If a Bus were to cover the same distance in 50 min, find the speed of the bus.

(1) 85 km/h

(2) 48 km/h

(3) 55 km/h

(4) 45 km/h


	(           )


	Section B ( 40 marks )

Questions 16 to 35 carry 2 marks each. For each question, write the answer on the space provided.



	16.
	Michel had a burger.  He ate 
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 of it, kept 
[image: image9.wmf]4

1

  of the remainder for his wife, and divided the rest equally among his 2 children.  What fraction of the whole pizza did each child get?




	17.
	If a = 8, find the value of 
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	18.
	Mrs. Annie bought 2m meters of cloth.  She used n meters to make each dress. If she made 5 dresses, how much cloth had she left?

  



	19.
	The prices of a shirt and a pair of trousers are in the ratio 2 : 7
If the price of the shirt increases from $30 to $36 while that of the trousers remains unchanged, what is the new ratio of their prices?




	20.
	There are Spanish, German and English books on a shelf.  The number of English books to that of the Spanish books is in the ratio 3: 7.  The ratio of the number of German books to that of English is 5: 4. 

Find the ratio of the number of Spanish books to that of German books.



	21.
	Express 30.75 g as a percentage of 2 kg.



	22.
	A Car covered 180 km in the first 2h of traveling and 160 km in the next 2h.  Find his average speed for the whole journey.






	23.
	A Bus started from Town A and traveled towards Town B at 50 km/h.  At the same time, a car started from Town B and traveled towards Town A at 70 km/h.  After traveling for 3h, the two vehicles were still 75 km apart. 

Find the distance between the two towns.



	24.
	To make yellow paint, a painter mixed green and red paint in the ratio 4 : 5.  If he used 1 liter of green paint, how many liters of red paint did he use?

(give your answer in fraction)






	25.
	John bought a trouser at a discount of 20%.  If the discount was $25, how much did he pay for the trouser?




	26.
	Jane spent 20 % of her money on a purse and 40% of the remainder on cosmetics.  What percentage of her money was left?





	27.
	Mr. John drove a car with its fuel tank at only 75% full.  After traveling some distance, only 20% of the beginning level of fuel is left.  The tank is then filled to its full capacity by putting in 34 gallons of fuel. 

What is the full capacity of the fuel tank?




	28.
	If a = 7, find the value of 250 – 4a2.




	29.
	A car’s wheel is 70 cm in diameter.  How many revolutions must the wheel make to travel a distance of 220 m? (Take ( =  22/7)





	30.
	The figure below is made up of a rectangle and 2 quadrants.  Find the area of the figure.  (Take ( = 3.14)







	31.
	The sum of 3 consecutive even numbers is 30.  Find the smallest of these 3 numbers.




	32.
	The total cost of 6 pens is $ 21.  If one of the pens cost  is$ 5.50, find the average cost of the other 5 pens.



	33.
	There are 2.5 liters of water in the container as shown below.  How many liters of water must be removed to make it only 
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 full?  (1 liter = 1000 ml)








	34.
	How many faces does the solid below have?
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	35.
	Color/Shade the wrong tessellation(s).





	Section C ( 30 marks )

Questions 36 to 40 carry 6 marks each. For each of the following problem sum, show your work clearly in the space provided.



	36.
	Lee has $2x.  John has $10 more than Lee and James has 1/2 as much as John.

a) How much money does James have? (1 m)

b) If x = $9, find the amount of James money. (2 m)

c) if x= $9 , Find the average amount of money that each boy has. (3 m)



	37.
	Annie bought 3 similar books and 5 similar erasers at a Stationary store. Jane paid $3.00 more than Annie by buying 4 such books and 7 such erasers. If each book cost $1.20 more than each eraser, what is the price of one book?

 (6 m)
 
  




	38.
	Tom’s money is 
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 of Harry’s.  Harry’s money is thrice as much as Willy’s money. 

a) What is the ratio of Tom’s money to Harry’s money to Willy’s money?  (4m)

b) If Willy has $180, how much money does Tom have? (2 m)



	39.
	A bus and a car left Town A for Town B at the same time. The average speed of the car was 40km/h faster than that of the bus. The car took 5  hours  to reach Town B.

a) When the car reached Town B, how far was the bus from Town B if the distance between A and B is 480 km? (2 m)

b) If the distance between Town A and Town B was 480 km, how long did the bus take to reach Town B? (4 m)



	40.
	The bar graph below shows the number of discs produced by 5 workers in a month. Study it carefully and answer the questions below.
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a) How many workers make more than 800 discs each? (1 m)

b) When Tom’s number of discs produced increased, the average of the 5 workers became 1000 discs.  Find the percentage increase in Tom’s discs production. 
(5 m)
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Answer Key

	Q1
	2
	Q11
	2
	Q21
	1.5375%
	Q31
	8
	Q38b
	$216

	Q2
	3
	Q12
	2
	Q22
	85km/h
	Q32
	$3.10
	Q39a
	200km

	Q3
	4
	Q13
	4
	Q23
	435km
	Q33
	0.88 l  
	Q39b
	8hrs 34 m

	Q4
	4
	Q14
	1
	Q24
	1  ¼ L
	Q34
	6
	Q40a
	2

	Q5
	3
	Q15
	2
	Q25
	$100
	Q35
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	Q40b
	60%

	Q6
	1
	Q16
	1/4
	Q26
	48%
	Q36a
	(x + 5)
	
	

	Q7
	2
	Q17
	16
	Q27
	40 gal
	Q36b
	$14
	
	

	Q8
	4
	Q18
	2m–5n 
	Q28
	54
	Q36c
	$20
	
	

	Q9
	2
	Q19
	12:35
	Q29
	100
	Q37
	$1.80
	
	

	Q10
	4
	Q20
	28 : 15
	Q30
	16.28m2
	Q38a
	6:15:5
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